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FORMULAE LIST     


Circumference of a circle:


C = (d

Area of a circle:



A = (r2

Curved surface area of a cylinder:
A = 2(r h

Volume of a cylinder:


V = (r 2h

Volume of a triangular prism: 

V = Ah

Theorem of Pythagoras:



Trigonometrical ratios


in a right angled

triangle:







Gradient:





                 Gradient  = 

1.  The Peaceful Mind Insurance Company calculates Life Insurance premiums using the information contained in the following table.
[image: image2.emf]
Helen is 28 and does not smoke. She wishes to take out £25000 of Life Insurance cover.

Calculate her monthly premium.


         
                  

 (3)       
2.      Alan is a bus driver. He drives a route from Dundee to Pitlochry that is 94km. 
He drives at an average speed of 40 kilometres per hour. 
Calculate the time he takes to drive from Dundee to Pitlochry. Express your answer in hours and minutes. 






(3)

3. (a) On the grid provided plot the following points A (1, -2), B (-2, 3) and C (1, 5).
(2)

(b) On the diagram, plot a fourth point D, so that ABCD is a kite. 


(1)

(c) Calculate the area of the kite ABCD. 





(2)


 

4.      A circular cycle track is constructed for a new athletic centre.
The diameter of the track is 70m


Calculate the distance around one lap of the track




(2)
5.      A Christmas decoration is in the shape of an isosceles triangle as shown below.
[image: image3.emf]
Joe wants to stick a length of tinsel round the perimeter of the decoration.

Calculate the length of tinsel that Joe will require.

Express your answer to the nearest centimetre.    




(5)   
6.      Anna noted the price of a packet of chocolate biscuits in 10 shops near her home.
Here are the prices she recorded.

94p

£1.03 

98p

 96p

 £1.04

   

99p 

£1.05 

99p 

£1.01 

£1.05


(a) Find the range of the biscuit prices. 



 

(1)

(b) Work out the median price of a packet of chocolate biscuits.


(2)

7. Omar works for 8 hours each day from Monday to Friday. He earns £5.24 per hour. Overtime is paid at time and a half on weekdays and double time at the weekend.
One week he worked the hours shown in the table below.

[image: image4.emf]

Calculate his total earnings that week. 





(4)
8. For a Business Studies project Ralph investigated the prices of the same minidisc player in Germany, the United States and Japan.
These are the prices he recorded.

Ralph also recorded the exchange rates in these three countries.
Germany 149 Euros 



Germany £1 = 1.39 Euros

Japan 16250 Yen 




Japan £1 = 179 Yen

United States 139 Dollars


United States £1 = 1.49 Dollars


(a) Convert all the prices in the 3 different countries to pounds. 


(3)


(b) Which country is the cheapest place to buy this minidisc player? 

(1)

9. Ann bought a new car for £10950. Two years later she sold it for £6600

.

(a) Calculate how much money she lost. 





(1)

(b) Express this loss as a percentage of the original value

       Give your answer to 1 decimal place. 





(3)

10. Two solicitors charge differently for helping to buy a house.


Mr and Mrs Galloway wish to buy a house that is valued at £84000.

Which solicitor should they use?


You must show your explanation. 






(4)

11. Calculate the size of angle BAC in the diagram below.
[image: image5.emf]
You should indicate some working on the diagram provided on your answer sheet.












(3)
12. The local Council wish to build a ramp to help wheel chair users.

The town hall steps are 90cm high and there is enough room to build a ramp as shown in the diagram below.

[image: image6.emf]
To satisfy regulations the ramp must not be at an angle of more than 9º.

Will the ramp satisfy the regulations?

You must justify your answer. 






(4)
Marking Instructions for General Level - Paper II

Total 

KU: 21


RE:23
          Paper 1 Sources  Std. Grade General Prelim Dec 2011
	Question
	Source

	1
	Made up

	2
	Int 1 2001

	3
	Int 1 2001

	4
	Peg Gen 2007

	5
	Int 1 2001/ Gen 2002

	6
	Made up

	7
	Prob Solv sheet / Gen 20

	8
	Peg Gen 2007


(Although some questions have had minor alterations to wording, the mathematic content and marks allocated are unchanged.)
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MATHEMATICS


Standard Grade    -    General Level








Paper II





Time Allowed	-	55 minutes





Read Carefully





1.	Answer as many questions as you can.


2.	Write your answers in the spaces provided .


3.	Full credit will be given only where the solution contains appropriate working.


4.	You may not use a calculator








a





b





c





a2 + b2 = c2
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